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Packet I of IV by Matt Weiner of University of Pittsburgh Quizbowl, with assistance from Jon Misurda of University of Pittsburgh Quizbowl

1. The processes over which they act are reversible, and the work which they do can be stored as potential energy. Examples include the electrostatic force, the restoring force of a spring, and gravity. For 10 points, give the name for these forces, defined as doing the same amount of work over all possible paths between given points.

ANSWER: conservative forces [prompt on potential force before the word “potential”]

2. The Beas [BEE-ahs] and Sutlej are tributaries of this river, along which one might find the cities of Sukkur, Lārkāna, and Hyderabad. It flows through the provinces of Sind and Kashmir and crosses the Hindu Kush mountains. For 10 points, name this river, on the banks of which a landmark ancient civilization existed at Mohenjo-Daro.

ANSWER: Indus River

3. Balance of trade, net inventory change, government spending, private consumption, and investment are its components. When measuring it, only value added at each stage of production is considered, to avoid double counting. For 10 points, identify this quantity, the sum value of all assets held within a country.

ANSWER: gross domestic product [prompt on GDP; do not accept or prompt on “GNP” or “gross national product”]

4. In front of it is “a neat garden-patch, where, every summer…a variety of fruits and vegetables” is grown. Inside of it are two beds, one decorative and one for use. It sits very close to Mr. Shelby’s house, a symbol of its owner’s status among the slaves. For 10 points, give the name shared by this structure and the work in which it appears, a novel by Harriet Beecher Stowe.

ANSWER: Uncle Tom’s Cabin [the full title of the work is Uncle Tom’s Cabin, or Life Among the Lowly]
5. George W. Bush never gave an opinion on the Supreme Court’s definition of it, while Al Gore proposed to “mend it, not end it,” and opposed the use of quotas. For 10 points, name this collection of programs intended to rectify past discrimination against women and minorities.

ANSWER: affirmative action
6. In animals, its causes include electricity, wind, and pheromones. It is more often studied in plants, where it can be caused by location of water, shadows, or gravity. Plants receiving light from only one direction must be periodically rotated to avoid bending due to the “photo-” kind. For 10 points, name this type of stimulus response which occurs as reflexive orientation or movement.

ANSWER: tropism [do not accept or prompt on any specific tropism]

7. One of this dynasty’s emperors, Wudi, introduced a merit-based bureaucracy and established the Silk Road. Officially Confucian, it saw Buddhism arrive in China. Liu Bang had founded it in 206 BCE, overthrowing the Chin, and it was succeeded by the Three Kingdoms Period in 221 CE. For 10 points, identify this dynasty which lends its name to the predominant ethnic group in China.

ANSWER: Han Dynasty

8. Its first movement uses 5/4 [five four] time and col legno battuto playing to create a military feel; the movement is subtitled The Bringer of War. The subtitles of the other movements are The Magician, The Mystic, The Bringer of Old Age, The Bringer of Peace, The Winged Messenger, and The Bringer of Jollity. For 10 points, name this astrologically inspired suite by Gustav Holst.

ANSWER: The Planets
9. It was opened to international competition in 1925, although it traces its origins to 1891. In 1983, Yannick Noah became the first native of the country in which it is held to win it in thirty-seven years. In 1928, it was held at Stade Roland Garros for the first time. For 10 points, name this clay court tennis tournament which has never been won by Pete Sampras.

ANSWER: The French Open
10. In The Man Versus the State and Social Statics, he posited a “law of equal freedom,” but he also described an “organic” state in The Study of Sociology. He held that human nature and knowledge can change over time, explaining how progress is achieved with the phrase “survival of the fittest.” For 10 points, identify this British advocate of Social Darwinism.

ANSWER: Herbert Spencer
11. Achieving its aims by rallying the masses against the Optimates, its goals included compensation for veterans of the Eastern army, civic incorporation of recently conquered territory, and the elevation of one of its members from forest commissioner to governor of Illyricium and Gaul. For 10 points, identify this alliance composed of Crassus, Pompey, and Julius Caesar.

ANSWER: The First Triumvirate
12. Number Two is a year younger and six feet shorter than Number One. The courtyard of this landmark at Liberty and Church streets is modeled after Venice’s St. Mark’s Square. For 10 points, name this Minoru Yamasaki design, comprising, as of 2000, the world’s fourth and fifth tallest inhabited buildings.

ANSWER: The World Trade Center [prompt on Twin Towers]

13. “The best lack all conviction, while the worst/Are full of passionate intensity,” when this occurs. “A shape with lion body and the head of a man” stirs in the desert, falcons become deaf, and “Mere anarchy is loosed upon the world” because “the centre cannot hold” when “things fall apart” during this title event. For 10 points, identify this 1921 poem by William Butler Yeats.

ANSWER: The Second Coming 

14. Solve a Taylor series for x equals one and multiply the result by four to calculate it slowly. A quicker way is to find the arctangent of one fifth, multiply the result by four, then subtract the arctangent of two hundred and thirty nine. For 10 points, name this value which has been calculated to over two hundred billion digits, the ratio in a circle of circumference to diameter.

ANSWER: π [pi; or Archimedes’s constant]
15. A month after its final mission, a visit to Italy to aid earthquake victims, it returned to Hampton Roads, where its flagship, the USS Connecticut, entered the harbor as Theodore Roosevelt watched. For 10 points, give the common name of this group of sixteen ships which toured the world in 1909 as a display of U.S. naval power.

ANSWER: The Great White Fleet [accept USS Connecticut before “flagship”; prompt on 1909 Atlantic Fleet before “common”]

16. He wrote essay collections such as Convergences and Eagle or Sun, and biographies of Marcel Duchamp, Claude Levi-Strauss, and Sor Juana de la Cruz. Also a poet, he wrote that “we are time and cannot escape its dominion” in The Double Flame and meditated on an Aztec calendar in “Sun Stone.” For 10 points, name this Mexican author of the cultural study The Labyrinth of Solitude.

ANSWER: Octavio Paz
17. Related to ancient atomism, this concept was developed by Paul d’Holbach, who said that motion of matter causes visible nature, human thought, and emotion. Evolution has been called its “biological” form, while Karl Marx revised it into a “dialectical” form. For 10 points, identify this term, often erroneously used as a synonym for excessive concern with consumer goods.

ANSWER: materialism
18. It can be broken when a water molecule, which is eliminated in formation, is re-introduced by protease. One of the shortest carbon-nitrogen bonds known, this rigid, planar bond is formed by ribosomes during protein synthesis. For 10 points, name this type of bond which occurs when the carboxyl group of one amino acid joins to the amino group of another amino acid.

ANSWER: peptide bonding

19. Pianists Wynton Kelly and Bill Evans, drummer Jimmy Cobb, and bassist Paul Chambers were featured on it. Julian Adderly played saxophone, as did John Coltrane. For 10 points, name this 1959 album whose landmark tracks, including “Freddie Freeloader,” “So What,” and “Flamenco Sketches,” were led on trumpet by Miles Davis.

ANSWER: Kind of Blue
20. Two of them are emitted during the carbon-nitrogen cycle. Each has a lepton number of negative one and a charge of one point six times ten to the negative nineteenth coulombs. For 10 points, name this particle of antimatter with a charge of equal magnitude and opposite sign to the charge of an electron.

ANSWER: positrons

21. In repainting it, the artist eliminated several trees and reconceived the buildings. Its final version includes only one cypress tree and uses short, horizontal strokes for the buildings, in contrast to the immense curves of the sky. For 10 points, name this 1889 depiction of the sky above St.-Rémy by Vincent van Gogh.

ANSWER: The Starry Night
22. Hema in indigenous Hawaiian religion, Mama Quilla to Incans, and the Japanese Tsuki-Yumi are all deities of this object. Egyptian myth says that a representation of it is worn on the head of Thoth and that Horus becomes blind once a month when it is invisible, while the Greek goddess of it is Selene. For 10 points, identify this body which the Romans associated with the goddess Luna.

ANSWER: the moon of the Earth [accept Luna before it is mentioned]

1. Answer the following about an eighteenth-century conflict and its participants for the stated points.

•For 10 points, led by England and Austria, this group formed in 1701 to oppose the ascension of Philip V to the Spanish throne, leading to the War of the Spanish Succession.

ANSWER: The Grand Alliance

•For 10 points, Philip was the grandson of this French king, whose influence the Alliance feared would extend to Spain with Philip’s ascension.

ANSWER: Louis XIV [Louie the Fourteenth; prompt on Louis]

•For 5 points each, name any two of the other three members of the Grand Alliance besides England and Austria.

ANSWER: The Netherlands [do not accept “Holland”], Denmark, or Portugal
2. Give the names, not the pronunciations, of these letters which don’t exist in modern English for 10 points each.

•This Spanish letter is pronounced similar to consecutive “n” and “y” sounds in English.

ANSWER: enye [en-yay; ñ]

•Currently being phased out in Germany and Austria, and already gone in Switzerland, this German letter replaces a double “s” in some words.

ANSWER: eszet [ess-zett; ß; accept scharfes es; prompt on sharp s]

•In Old English, the sound which is now represented by an unvoiced consecutive “t” and “h” had its own letter, called this.

ANSWER: thorn [Þ]

3. Name the poem from a line for 10 points apiece.

•“The Rock cries out to us today,/You may stand upon me;/But do not hide your face.”

ANSWER: “On the Pulse of Morning” by Maya Angelou

•“And he was always quietly arrayed,/And he was always human when he talked;/But still he fluttered pulses when he said,/‘Good-morning,’ and he glittered when he walked.”

ANSWER: “Richard Corey” by Edwin Arlington Robinson

•”I have seen the moment of my greatness flicker,/And I have seen the eternal Footman hold my coat, and snicker,/And in short, I was afraid.”

ANSWER: “The Love Song of J. Alfred Prufrock” by Thomas Stearns Eliot

4. Frank Stallone is in a house of mirrors. Answer the following about this situation for 10 points each.

•Standing before a concave mirror, Stallone calculates the location of this, the place in relation to the mirror at which light rays from an infinitely distant source converge to form an image.

ANSWER: you guessed it, focal point [accept focus point]

•Frank now moves in front of a flat plane mirror which is perpendicular to the ground. Because the light rays which Frank sees coming off of the flat mirror do not actually emanate from where his image appears to be, Frank is seeing this type of image.

ANSWER: you guessed it, virtual image
•Frank shifts to a flat mirror which is tilted in order to reflect the biggest span of height possible. But no matter what the angle of tilt is, if Frank is two meters tall, then for the flat mirror to reflect the entirety of Frank, it must be at least this high.

ANSWER: you guessed it, one meter
5. For 10 points each, name these groups which covered the Crickets song “I Fought the Law.”

•This Texas rock-and-roll group, whose leader later died under mysterious circumstances, was the first band to cover the song with success, bringing it to number nine on the Billboard chart.

ANSWER: The Bobby Fuller Four
•This British band’s version of “I Fought the Law” appeared on the American version of its self-titled debut album, which also featured “White Riot” and “London’s Burning.”

ANSWER: The Clash
•This American punk band, which also released “Holiday in Cambodia” and “MTV, Get Off the Air,” recorded its own version of the song, indicting the American justice system, the “Twinkies Defense,” and police corruption.

ANSWER: The Dead Kennedys [prompt on DK]

6. Given a European city, name the river on which it sits for 10 points each.

•Geneva, Switzerland

ANSWER: Rhone River
•Kiev, Ukraine

ANSWER: Dnepr River

•Bratislava, Slovakia

ANSWER: Danube River

7. Identify these computer data structures for 10 points each.

•It processes under a “last in, first out” routine.

ANSWER: stack
•Based on “first in, first out,” it takes the importance of each datum into account when determining the order in which processing occurs.

ANSWER: priority queue [prompt on queue]

•It is organized in nodes, each of which can have a left node that is less than the parent and a right node which is greater.

ANSWER: binary search tree [prompt on partial answer]

8. Answer the following about an American musical movement for 10 points apiece.

•This avant-garde movement, inspired by atonality, composed using lengthy repetition of simple harmonies.

ANSWER: minimalism
•This extremely minimalist work by John Cage features a piano player sitting motionless in front of the piano for a fixed length of time.

ANSWER: 4’33 [four minutes and thirty-three seconds]

•This Philip Glass opera with many minimalist traits is a metaphor based on the life and ideas of a scientist, concluding with a chorus frantically chanting numbers, representing nuclear war.

ANSWER: Einstein on the Beach

9. You’ll hear the name of a U.S. Supreme Court case which, in addition to the Fourteenth Amendment, addressed some amendment to the Constitution. Name the amendment addressed for 15 points. If you don’t answer correctly, you’ll hear the content of the decision and can then answer for 10 points.

•15: R.A.V. [R A V] versus St. Paul

10: The Court ruled that “hate speech” apart from a violent act could not be outlawed.

ANSWER: First Amendment

•15: Gideon versus Wainwright

10: The Court ruled that states must provide attorneys to defendants in all criminal cases.

ANSWER: Sixth Amendment

10. Name these people born in 1452 for 10 points apiece.

•His paintings include Lady with an Ermine, Battle of Anghiari, and Madonna of the Rocks.

ANSWER: Leonardo da Vinci [accept Leonardo]

•This Shakespearean title character was born at Fotheringhay Castle and died at Bosworth Field.

ANSWER: Richard III

•This preacher ruled Florence from 1494 until his 1498 execution for heresy.

ANSWER: Girolamo Savonarola

11. Identify the author, 30-20-10.

30: Although one shortsighted politician charged him with “wronging the people” due to the ribald content of his works, he was politically conservative; in fact, modern critics hold him partially responsible for the show trial of a free-thinking contemporary.

20: His characters include the slave Sosias, the disaffected citizen Pithetaerus, and the feminist conspirator Myrrhine.

10: The contemporary whose death he helped cause was Socrates, mocked in The Clouds; and Cleon, the politician who attempted to censor him, was derided throughout The Wasps.

ANSWER: Aristophanes of Athens

12. Name these books of the Christian New Testament for 10 points each.

•The third of the gospels, it discusses the conception of John the Baptist and the entirety of the life of Jesus.

ANSWER: The Gospel According to Saint Luke
•Its point is that Christianity, while rooted in Judaism, is to be spread to the entire world.

ANSWER: The Epistle of Paul the Apostle to the Romans
•Continuing from the ascension of Jesus, it describes the lives of his disciples through Saint Paul’s imprisonment.

ANSWER: Acts of the Apostles
13. Answer the following about the September 24, 2000 election in Yugoslavia for 10 points each.

•Name the thirteen-year president of Yugoslavia who attempted to hold on to power after losing the election.

ANSWER: Slobodan Milosevic
•Name the lawyer, human rights activist, and founder of the Democratic Party of Serbia whose election victory was disputed by Milosevic.

ANSWER: Vojislav Kostunica
•Before the people secured Kostunica’s election victory, this nation offered to mediate the election dispute. Kostunica was wary of the terms of the offer, perhaps due to this country’s recent history of intervention in Yugoslavia.

ANSWER: Russian Federation [accept Rossiskaya Federatsiya]

14. Name these cities in South Africa for 10 points each.

•The capital of the Free State province, it is the home of the national appellate court.

ANSWER: Bloemfontein
•In the northeastern part of the country is the Witwatersrand region, where this city, the most populous in South Africa, can be found.

ANSWER: Johannesburg
•It is the seat of Desmond Tutu’s archbishopric and the legislative capital of the country.

ANSWER: Cape Town
15. Name these gothic cathedrals for 10 points apiece.

•It is distinctive for the different styles of each of its towers, the preservation of nearly all of its original stained-glass windows, and the fact that its was the first cathedral to be designed with flying buttresses.

ANSWER: Cathedral of Our Lady at Chartres [or Notre Dame de Chartres; prompt on Notre Dame; prompt on Our Lady]

•It creates a vast interior space by combining triangular ribs with transverse arches. The west towers are squared off due to a pause in the construction, and several features, such as the gargoyles and Gallery of Kings, were reconstructed in the nineteenth century.

ANSWER: Notre Dame de Paris [or Our Lady of Paris; prompt on Notre Dame; prompt on Our Lady; prompt on Paris]

•The largest church in France, its distinctive three-tiered interior construction and seven chapels arranged in a semicircle were planned by Robert de Luzarches. 

ANSWER: Cathedral of Our Lady at Amiens [or Notre Dame de Amiens; prompt on Notre Dame; prompt on Our Lady]

16. For 10 points each, name these Native American tribes.

•William “Red Eagle” Weatherford led an uprising of this tribe at Fort Mims, Alabama, in 1813, beginning a war which ended at Horseshoe Bend in 1814, when they were defeated by troops under Andrew Jackson.
ANSWER: Creek
•Their first conflict of three with the U.S. government began in 1817 when American settlers from Georgia began to move onto their lands. Despite the fact that their lands were in Spanish territory, the tribe was defeated by an army led by American general Andrew Jackson.

ANSWER: Seminole
•In 1832, the Supreme Court ruled that they were a nation outside of Georgia’s jurisdiction. Georgia expelled them anyway, and the quip, “John Marshall has made his decision; now let him enforce it,” was the only intervention offered by President Andrew Jackson.

ANSWER: Cherokee
17. For 15 points apiece, identify these types of RNA.

•Once considered simply bulk on which proteins could be constructed, it is now known to catalyze protein production.

ANSWER: ribosomal RNA

•This type of RNA contains anticodons which mirror the amino acid sequence that is eventually brought into place on the DNA molecule.

ANSWER: transfer RNA

18. Given its first ruler after independence, name the country for 10 points. The common name or the current official name is acceptable.

•Bernardo O’Higgins

ANSWER: Republic of Chile [or República de Chile]

•Emperor Pedro I [Pedro the First]

ANSWER: Federative Republic of Brazil [or República Federativa do Brasil]

•Agustín de Iturbide [aa-goo-STEEN day ee-tur-BEE-day]

ANSWER: Mexico [or United Mexican States; or Estados Unidos Mexicanos]

19. Name these places in Asgard for 10 points each.

•This plain in central Asgard hosted meetings of the Aesir and was the location of the palaces of Gladsheim and Vingolf. 

ANSWER: Idavoll
•Guarded by Heimdall, this rainbow bridge led from Asgard to Midgard.

ANSWER: Bifrost 

•Eight hundred fallen warriors at once could enter this banquet hall through its four hundred and fifty gates.

ANSWER: Valhalla
20. Identify the following treaties regarding nuclear weapons for 10 points each.

•The major result of the 1969 to 1972 Strategic Arms Limitation Talks was this treaty, in which the US and USSR each agreed not to construct a comprehensive missile defense, and to have no more than one hundred missile launchers per each of two launch sites per country. [check for alternate names]

ANSWER: Anti-Ballistic Missile Treaty

•This 1991 treaty transferred the USSR’s nuclear obligations to Russia and called for a seven-year reduction of nuclear arms worldwide.

ANSWER: Strategic Arms Reduction Treaty

•The Senate refused to ratify this treaty, which came out of a 1996 United Nations conference, but President Clinton ordered U.S. compliance with it nonetheless. 160 nations have ratified it as of October 2000.

ANSWER: Comprehensive Nuclear Test Ban Treaty

21. For 15 points apiece, name these works by Albert Camus [KAY-mus and kuh-MOO are both accepted. Pronounce it any way you like].

•In this novel, Bernard Rieux is a doctor trying to find joy despite omnipresent death in the city of Oran.

ANSWER: The Plague [or La Peste]

•“There is no sun without shadow, and it is essential to know the night,” states Camus in this essay, which describes how a mythological figure condemned to unproductive toil may actually be happy.
ANSWER: The Myth of Sisyphus [or Le Mythe de Sisyphe]

22. For 10 points per answer, given a group of commonly seen colloids, indicate what kind of colloid all members of the group are. For example, if you heard “cheese, glue, and ink” you would say “gel.”

•soap, pumice, and whipped cream

ANSWER: foam
•mayonnaise, butter, and hand lotion

ANSWER: emulsion
•fog, a dust cloud, and smoke

ANSWER: aerosol
